Spring 2010 lecture test 2 answers.

1. D  2. F   3.  A    4.   H    5.  G   6.  C    7.  B    8.  A    9.   C  ( the choice should say 6.3 x 10-5     10.     B       11.     C      12.  B    13.   D    14.  C

15.  A      16.  C  (but will not be covered this term)

17  NH2(     18.  H2PO4(    
I.  0.016 molar         B.   0.0032 moles  (note that there are only 2 sig figs in the given pH)

C.  2.10

II.  6.3 x 10-4     B.  11.70

III.  1.8 x 10(4      IV.   A.  3.22     B.   3.22    C.  3.47      D.  8.72

V.  0.699       B.  1.54    C.  7

VI.  2.72      B.   5.35      C.  8.87      D.  12.26

VII.    0.133 molar         B.   5.06

VIII.  0.00750 M      B.  1.69 x 10-6     C.   2.1 x 10(4 M       ii)  9.8 x 10(10 M

IX.  A)  ΔG° = +211.4  kJ      B)  +243.4 kJ     C)   + 107.4 J/K

X.  (101 kJ.  (note, I almost used C6H6  instead of C2H6;  be careful!)

B.  5.16 x 1017    C.  (122 kJ
